Unit 6 AFM Group Quiz
5 points each



NAME____________________________
Find the sum of each.  If the sum does not exist write DNE.
______________1
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Write using sigma notation.

____________________4. 
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State whether the series is Convergent or Divergent: If Convergent, state the SUM.
6) 
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7) 
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C or D? _______________________

C or D? _______________________
SUM ? _______________



SUM ? _______________

Find the value of each limit or state that the limit does not exist (DNE):

____________8.  
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____________11.  Express the repeating decimal as a rational number (fraction) by first expressing the number as an infinite series:    
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____________12.  Evaluate:
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.  Show work or no credit!

____________13.  A rubber ball dropped from a height of 118 inches rebounds on each bounce to 1/2 of the distance from which it fell.  How far (vertical distance) will it travel before coming to rest?
____________14.  A bathroom floor has tiles arranged in 6 circles.  The inner most circle contains 11 tiles.  Each successive circle contains 8 more tiles than the previous circle.  How many total tiles are on the bathroom floor within the 6 circles?

_____________________15.  What is the fifth term of the expansion of 
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_____________________16.   Simplify. 
[image: image14.wmf]!

50

!

49

!

50

-







_____________________17. 
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_____________________18.  Given 
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 find the term containing
[image: image17.wmf]30

x

.
19.  Expand 
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         _______________________________________________________________
____________20.  Two bugs start at the origin, one traveling along the positive half of the x-axis and the other traveling along the positive half of the y-axis.  The first bug moves 12 units on the first move.  Then on each subsequent move, the bug moves only 
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 as far as the preceding move.  The second bug moves 6 units on the first move and on each subsequent move, it moves 
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as far as the preceding move.  The bugs always move at exactly the same time.  How far apart will the bugs be after infinitely many moves? (nearest tenth)
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